110 SR REPIPRGEFE TAF ek

— (R ERIEE

(—111FE1H19H (2H=)
8:00-8:10 VU4 » 8:10-8:20 —4F-4) » 8:20-8:30 —4F4}k » 8:30-8:40 —4F4K

TAEsHC:
S PR AR ~ TR - R
WIER 1 FFAREEFRIG ke 8:35 Al 1 AR EEEMIBHA
PORE I - REHTE B - FESESRAT -
HeAH G ER T
ARG E PR | SHE AL ~ FIRH R
{55
EPeEYERILL | B5E2
IR ~ i | 4 NEEE =
FPAH RAET 1 FREARIRFT ML 1 TR
WERIE B | 2R
s e e P A R B AT e A4 B
o EHETRE 2 FS LAV e A P E L - WEE AT
42,
BBV EEHHC S -
&5ty | BREER
2 NS T B B A VAR S BAG S A DA R -
HERE SR
Fid #F —
M M SEEPIRr E SH2ER
106 105
103 102 101
|l

104



Sy 2 55

=3 2 HH
SIEHEGR 307 306
205 204
303 302
—
203 —
%t
_ =4 2 B
SIRBEARATE
405 404
403 402 401
e
= N33R %

-
7

TE%: 111 &17" 19p 8:45-10:15~» #5111 # 17 19 p
10:15-11:50

SRR

WLl EE
(FY) .
B =EE
(=) (fr)
B% i
‘ (—) | ‘ (Z) ‘ % () =)
0} B
22 Z, N T X 174
3\a%$ﬁ§ﬁm%%ﬁ
fi%"'ﬁ}i/fz o . ﬁ . X
TES 0 502 504 505 503
FES 604 601 605 603 602

a f’v/,,\ga

305

301



b 4 ‘

o

(% - 3) v’f? PPt~ FRET AR SRy | £ R
(%=3) |B*2 P (P~ Y AY L gl g

BB 2 SRR TIGT R ~ Z5aE ~ BREL o 2B 4 sRfa - IEHIRIET o B

Ak o

(% w 3) {? LA B AT Lok iz
(#I3%) |82 FEF T TR SRy | AR
5%~ LEERAR ~ S - WELIL R - B MR - M E | EIEE

fF ~ BB 7%

He e G e




